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Part 1: 60%
Indicate the correct answer or answers for each of the 10 questions:
1. According to the Ricardian model, in autarky:

a) The price of good A relative to the price of good B reflects the relative quantity of labour used in the production of the two goods.

b) The value of two goods with similar labour costs can be very different from each other.

c) The value of a certain good is determined by the capital-labour ratio in the industry that produces that good.

d) The price of good A relative to the price of good B only reflects the quantity of labour used in the production of good A.

2. Consider two countries which produce two goods using labour only. The number of days necessary to produce one unit of each good in each country is as follows:



England
Portugal

Cloth

  100

   90


Wine

  120

   80

We can prove that:

a) England has a comparative advantage in wine.

b) England has an absolute advantage in the production of the two goods

c) The productivity in the cloth sector relative to the productivity in the wine sector is greater in England than in Portugal.

d) Both countries gain from international trade if the international relative price of cloth is equal to 0.95.

3. The basic Ricadian model of trade (2 goods and 2 countries):

a) Can determine the international relative price only if the world demand curve for the two goods is known.

b) Can determine the international relative price even if the world demand curve for the two goods is not known.

c) Can determine which good will be exported and imported by each of the countries.

d) Shows that global output will increase as a result of trade.

4. In the Ricardian model with two countries and many goods:

a) Specialization depends on the relative wages.

b) Each country specializes in the goods in which its relative productivity is lower than its relative wage.

c) Each country specializes in the goods in which its relative productivity is higher than its relative wage.

d) Specialization is indeterminate.

5. Which of the following protectionist measures imposes the biggest net loss for a small importing country? (Assume the resulting imported quantity is the same for all of them)

a) A tariff on imports

b) A quota on imports, when the quota rents accrue to the government.
c) A voluntary export restriction (VER).

d) A quota plus a tariff on imports

6. A tariff and a quota with the same effect on the quantity imported:

a) Have always the same effects on the economy of one country.

b) Have different effects on the economy of one country if the import licenses are given away to the exporting countries.

c) Only have the same effects on the economy of one country if the domestic market of the protected good is a monopoly.

d) All previous possibilities are wrong.

7.  According to the Ricardian model, Less Developed Countries can compete with Developed Countries because (choose only the best answer to this question):

a) They are more productive in some goods.

b) They have lower wages.

c) Their lower wages more than offset their lower productivities in some goods.

d) Their lower wages more than offset their lower productivities in almost all goods.

8.  The empirical evidence on the Ricardian model presented in Krugman and Obstfeld (2009):

a) Concluded that the value of US exports was higher than the value of UK exports in the industries where the productivity in the US was higher than the productivity in the UK.

b) Concluded that the value of US exports was higher than the value of UK exports in the industries where the relative productivity in the US (qUSi/qUKi) was higher than its relative wage (WUS/WUK).

c) Concluded that the value of US exports was higher than the value of UK exports in the industries where the relative productivity in the US (qUSi/qUKi) was lower than its relative wage (WUS/WUK).

d) Gave support to the Ricardian model of trade.

9.  A large country that imposes a tariff on its imports of oil:

a) Will always suffer a net welfare loss.

b) May enjoy a net benefit.

c) May generate a benefit for the foreign producers of oil.

d) Will produce an uncertain effect on the welfare of the foreign producers of oil.

10. In the context of the ricardian model, suppose the opportunity cost of X in terms of Y is lower in country A than in country B. This means that:

a) In autarky, the relative price of X is lower in B.

b) In order to increase the production of X, country A sacrifices less units of Y than country B.

c) The opportunity costs are constant.

d) The production possibilities frontier is a straight line.





Part 2: 50%
Note: do not exceed 10 lines in each of your answers to the following questions:

1.  (5%) Summarize the main features of the strategy of development attempted by developing countries in the period between World War II and the 1970s.
2. (10%) Explain the “infant industry argument”.
3. (25% points) Explain two criticisms that can be made on the infant industry argument.
PAGE  
3

